Light projections velocity and not light velocity that is measured as a constant
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Abstract: Ending relativity from classrooms and scientific calculations starts with ending Nobel Prize winner Physicists wrong physics and it starts with the grand mistake called relativity based theories. Relativity theory is based on the fact that light measurements are done along the line of sight and we measure light projections to our eye. Meaning, that we do not measure distance r but we measure r cosine arc tan (v/c) when light is used and as a consequence instead of measuring time T we measure T cosine arc tan (v/c) and here is the experimental proof of it.   
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 The projections of light is what we measure and the projection of 1 and 2 and 3 is AB

If the angle between ray 1 and AB is θ (1)
  

If the angle between ray 1 and AB is θ (2)
 

If the angle between ray 1 and AB is θ (3)
 

Then  C (1) cosine θ (1) = C (2) cosine θ (2) = C (3) cosine θ (3) = c = AB
 

You want experimental proof?

Here is my iron clad proof of my theory: This is using the light projections to be equal c then the advance of perihelion and stars to solve mercury Venus and DI Herculis binary stars better than all is 

(Γ - t)/2 = 3.75 t (v/c) ² 

 

       

If an object at location A sends light signals in all directions at time at t = 0 where B1 is; 

And B1 is moving to B2 then the projection of AB2 of AB1 is measured.  AB1 is theorized and AB2 is measured; or AB2 = AB1 cosine θ; θ = arc tan (v/c)

B1B2 /AB1 = sine θ; AB2/AB1 = cosine θ; B1B2/AB2 = tan θ 

Instead of measuring time t we theorize time t and we measure time Γ = t cosine θ
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Γ = t cosine arc tan (v/c) = t {1- 2 sine² {[arc tan (v/c)]/2}}

Γ - t = 2 t sine² {[arc tan (v/c)]/2}

Astronomers use 1/2 cycle

Then (Γ - t)/2 = - t sine² {[arc tan (v/c)]/2}; If v << c 

Then (Γ - t)/2 = - (t /4) (v/c) ² seconds per 100 years in 1/2 cycles

And (Γ - t)/2 = - 15 (t /4) (v/c) ² arc seconds per 100 years in 1/2 cycle

                    = 3.75 t (v/c) ² arc seconds per 100 years in 1/2 cycle

When we measure the orbit of planet Mercury we use v = velocity of mercury - velocity of earth = 47.9 km - 29.8 km = 18.1 km; v = 300,000 km/sec

If t = 100 years that would be = 100 x 365.26 days x 24 hours x 60 minute x 60 seconds

Then t = 36526 x 24 x 3600 seconds in 100 years

In a circle for every 24 hours x 3600 seconds there is = 360 degrees x 3600 seconds 

Or, for every one 1 time second = 15 arc second

And (Γ - t)/2 = 3.75 t (v/c) ² 

For Mercury: (Γ - t)/2 = - 3.75 x [36526 x 24 x 3600] x (18.1/300,000) ² 

                                   = - 43.0 arc sec per century

For a full cycle: it is 86 Arc seconds per century. 

For Venus Velocity instead of Earth's Velocity 

That is: 35.1[Venus orbital speed] + 6.52 [Venus spin speed] - 29.8 = 11.82 km/sec 

Half - (Γ - t)/2 = - 3.75 x [36526 x 24 x 3600] x (11.82/300,000) ² = 4.592821605 

Of arc sec per century

Full (Γ - t) = - 2 x 3.75 x [36526 x 24 x 3600] x (11.82/300,000) ² = 9.18654321

Of arc sec per century

After 400 years of stupidity in reading telescopes it is time to tell the crooks and idiots: 

(Γ - t)/2 = 3.75 t (v/c) ² 

This is the proof of relativity is wrong
Let us see

With m = 5.15 M (0) and M = 4.52 (0); a = 43.2 R (0) 

It all came from this equation and sometimes 1/2 the period 

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ² arc tan [(v - v*)/c] arc sec/century

V* (p) = √ [GM²/ (m + M) a] = 96.84 km/sec  

V* (s) = √ [Gm²/ (m + M) a] = 110.34km/sec

With v = [V* (p) + V* (s)]/2 = [96.84 + 110.34]/2 =103.5887398km/sec

And v + v* = 103.5887398 + 29.8 = 133.3887398

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ² arc tan [(v - v*)/c] arc sec/century

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ² arc tan [(133.39)/300,000] 

       = 1.3° arc sec/century

In the 1/2 period method 

Ending relativity and quantum mechanics from classrooms and scientific calculations is a matter of funding and not a matter science.  
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